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MATHEMATICS
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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOQOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET. .

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers), You will sclect the response which you want to mark on
the Answer Sheet. In case you feel that there is morc than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

You have, to mark all your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response Lo various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
"Admission Certificate. :

After you have completed filling in all your fesponses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet, i

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A.CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. ‘

fi) There are four alternatives for the answer to every question. For each guestion for which a wrong
answer has been given by the candidate, one-third (0'38) of the marks assigned to that question
will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as ‘a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question.

(iii) U a question is left blank, i.c., no answer is given by the candidate, there will be no penalty for
that question. :

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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a b ¢ Directions : For the next 3 (three) questions to
' : llow : ' s
1. If [{ m n| =2 then whatis the value fetiow . :
- Consider the following lists :
3 r
" w4 " Each item under List I is associated with one
6a 3b 1b5e or more items under List IT.
of the determinant |2 m  &n| ? List I ‘ List IT
% g 5r {Function) ' (Property)
() 10 A sinx 1. Periodic function
(b} 20 B. cosx 2, Non-periodie function
(c) 40 C. tanx 3. Continuous at every point
() 60 ' - om (o8, )
2. Let X be the set of all graduates in India. -4, Discontinuous function
Elements x and y in X are said to be related if . . -
they are graduates of the same university. Dxfferentlable at  every
Which one of the following statements is point on (- % =) '
correct, 7 . ‘ 6. Not differentiable at every
(a) Relation is symmetric and transitive point on (-, )
only. ' 7. hasperiodn
{b}) 7 Relation is reflexive anc-l trans.ltlve only. R
(¢) Relation is reflexive and symmetric o »
only. 9. increases on (0, n/2)
(d} Relation is reflexive, symmetric and 10. decreases on (0, 7/2)
transitive. 11. increases on (n/2, )
3. If x% + y2 = 1, then what is 1+—”—£ 12. decreases on (n/2, )
o 1+x-—iy . :
equal to ? 5.  Ais associated with
(@) x-1y (@ 1,858,912
(kY 4 gy () 2 4,68, 10, 11
. ¢ 1,3,85 7 10, 11
(d) -2iy
: ‘ {d) None of the above
4, Consider the following statements : ) . . .
SO R 6. B is associated with
1.  For any three vectors a, b, ¢ ; :
. - g < — — - (a) 2, 3, 5,.8, 9, 12
| a.{(b+c)x(a+b+.c)l=0 ® 1,35 8,10, 12
2. For any three coplanar unit vectors () 1,835 8,9 12 ‘ .
' 1.2 Fu (3 5 2) T o1 (d) None of the above
Which of the statements given above isfare | 7. Cis as;sociated with
o .
f”;"recl'" , (@ 1,4,6,79 11
a only
(b) 2 only (b) 2,4,6,8 9
{(c) Both 1 and 2 ‘ (€ 1,4,6,79
(d) Neither 1 nor 2 (d). None of the above .
Q-CEBA-K-NBU {2 - A}
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a b c
1 afe [ m n!l=2 @
p q T
. 6a 3b 15¢
aR® |20 m S5n| AT FENE ?
Zp q 5r
() 10
by 20
(c) 40
(d) 60 .

5. A b ua § G F  weEE X
. X & He x 3R y gafed o2 1 € a 3 =/

frdfer - 5 3 () we & R

FrfoRea gfdl w fer e - _

TN 1 e g3 v et @ 11 & oF e

a1 eI e ¥ T R

g ol 1

() m

A sinx 1, 37dd] B

B. cosx 2. 3G Bad

C. tanzx 3. (—m,m)%mﬁﬁww :
4. AT e
5

R R
.

6. (coo, ) B TS g W

favafrae @ e € | Fafales § 3 a9 @ Ia@CHIg el
T W 8 ? _ 7. Ed® 7 ael &
(a) = o wE AR GEEE ¥ | 8. 3&d® 2 aten &
(b) W Pad aged 3R HEWE ¢ | ‘9. (0, n/2) W gUAF &
(c) e el wged 3R wwivE & | 10. (0, 1/2) T A &
(d) e e, Wi, 3k e ¢ | 11. (w/2, 0 W e &
3. a Pey?el @ TENY momamis BBl v
@ x-iy 1+x~ly. 5. Afwufea d wbeaa g 2
(b) x+iy @ 1,368,912
o) 2x (b) 2 4,86,8,10, 11
Wy —2iy . (© 1,357, 10,11 |
s Pieffen oo o R @ . LSkl
i fehd st 2,0, F bRw; |6 BEERERwERERe
;.:(B’+?)x(5’+3+?):=0 2 2’3’-5,8,9,12
' b 1,3 58,10, 12
2. fogl A wwaca AEs Wi © 1,358, 9,12
4,8, 7 ®fw:(d x8).T =1 @) FuRRRed ¥ ¥ B
uRfefag oot § 9 o R ud E P 7. CFoufea @ gafea d ?
(a) oae 1 (a) 1,4,6,7,9 11
" (b) oA 2 b) 2,4,6,8,9
© 13k 2ad (© 1,4,6,7,9
(d Fd@13RAE2 L mﬁ%mqﬁ
Q-OEBA-K-NBU (3-A)

Dream Dare Win

3 WWW.jeywin.com




WWWw.jeywin.com

Dream Dare Win

Dream Dare Win

8. If p and g are positive integers, then which [12.
one of the following equatmns has p ~ JE as
one of its roots ?
(a) x*—2px~(p?-q) =
b x*- 2px + (p2 —-q) =
(&) x%+ 2px — (p? - q) =
(d) x®+2px+ (P¥-q =0

. 13.

9. Given two squares of sides x and y such that
¥ = X + x%. What is the rate of change of area
of the second square with respect to the area
of the first square 2
(a) 1+ 3x+ 2x2
(h) 1+ 2x + 3x2
(€) 1-2x+ 3x2
(d) 1-—2x— 3x

10. The planes’ px + éy + 2z -3 = and
2Xx —y +z + 2 =0 intersect at an angle |14,
‘m/4. What is the value of p’?
(a) 24 h
(b) 12
{c) 6
(dy 3

11. The growth of a quantity N(t) at any 156.
instant t is given by e = o N(t). Given
that N(t) = ¢ is a ‘constant. What is
the value of o ?
(a) ¢
h k
{c) c+k
@ c-k

' 0-OEBA-K-NBU (4-A)

A

A circle is drawn_ with the two foci of an

2 2
X

a®  b?
diameter. What is the equation to the circle ?

ellipse =1 -at the end of ‘the,

(a) x%+ y% = a2 .+ b?

{b) x2_+ y2 = a2 - p?

(© %%+ y? = 2 (a? + b?)
=2 ~p%

@ x2+y>

What is the image of the point (1, 2) on the
line 3x +4y-1=0 ?

@ (-3 -§)
® (5 3)
T
> (-3 3)

If the product of the roots of the equation
2 _Bx+ k=15 is —3, then what is the
value of k 7 )

(a) 12
(b 15 .
{c) 16
(d) 18

Consider the following statements :
1. Every function has a primitive.
2. A primitive of a function is unique.

Which of the statements given above is/are
correct ?

(a) 1 only

(b)) 2 only

(¢} Both1land?2
(d) Neither 1 nor 2

WWW.jeywin.com
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8" Uﬁ,paﬁ?qm?ﬁa%,aﬁﬁﬁaﬁalz.
Tl A s ws 7@ p- Ja &2
(@) x®-2px-(P*-q =0
(b) x2—2px+(p2—q)=0
() x2+2px—(p2-q =0
@ x*+2px+(p?-q = 0-
9. dRyEmwi x 3R y a0 FigwweRr § &
y=x+x% A gR o & dowa & WRad & R
wed & & Sowa b A a d 7 13,
(a) 1+ 3x + 2x%
(b) 1+ 2x + 3x2
() 1-2x+ 8x%
(d) 1-2x - 3x°
10, §wad px+2y+2z-3=0 3R
2X—y+2+2=0 o MDD n/4 & |
P2 E A TS ?
" (a) 24 14,
(b)y 12
(¢} 6
(d) 3
11. %@'WtWMN(t)aﬁqﬁs{%g = a N |15,
A e | o R gan 8 16 N(b) = cekt, T ¢
TH R e, Mod AT AR ? )
(a) ¢
by k
¢} c+k
@ c-k
Q-OEBA-K-NBU {5 - A)

TN SD G e g o 0 G
a—2+b—2—=1 21830

3t fieg & s g i T @ | g w1 W

am"s‘?_

(a) }(2+y2=.512+b2
(h) x2+y2%=a%-1p?
(€) %% +y%=2(@2%+b%
@ x%+y%=2(%-b?

: i@3x+4y_i=oqz%§(1,2}ar%xam%?

(a) (_Z, _§]
B E

(b) (1, lJ—
a8 2

(© (1 _ )

8’
1
g

(@ (_

bo | =

[S BN |

o e K% - Bx + k = 15 B @

A6 — 38 MekHIA R E ?
(a) 12
(b) 15
{(c) 16
(d) 18

FrafafEa st = R Sty -

1. W Bed &1 S T # |

2. 58 oM @& g i dar @
IRTRET AT AP IR I g ? -
(a) a1

{(b) AT 2

(¢ 13k 2a+

(d FarizRaID2
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16. If A={a,b,c, dl, then what is the number of | 19.
proper subsets of A ? :
(a) 16
(b) 15
{c) 14
(d) 12
17. What is the number of three-digit odd |
numbers formed by using the digits 1, 2, 3, 4,
5, 6 if repetition of digits is allowed ?
(a) 60
20.
(b) 108 )
C(e) 120
(dy 216
5 6 1
18, Let A = . Let there exist a
2 -1 5
35 49
matrix B such that AB = -|. What is
29 13
B equal to ? 21.
5 1 4
(a)
2 6 3
2 6 3
(b ;
5 1 4
22.
5 2
(¢ 1
4 3
2 5)
(d) |86
4
Q-OEBA-K-NBU {6 - A}

(d)

¢

Consider the following statements :

1. The probability that there are 53 Sundays
in a leap year is twice the probability that
there are 53 Sundays in a non-leap year.

2. The probability that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
month of April.

Which of the stalements given above is/are
correct 7

(a) 1 only

(b) 2 only

{c} Both 1 and 2
(d) Neither 1 nor 2 -

Consider the following statements :
L-If A" = A, then A is a singular matrix,
where A’ is the transpose of A.

2. If A is a square matrix such that A® = I,
then A is non-singular. '

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

If'p times the pﬂ" term of an AP is q times
the off term, thén what is the (p + gt

" term equal to ?

(@) p+gq
b pa
e 1
dy 0

A team of 8 players is to be chosen from a
group of 12 players. Out of the eight players
one is to be elected as captain and another as
vice-captain. In how many ways can this be
done ?

{a) 27720

(b) 13860

(c) 6930
495

Dream Dare Win
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y p ' .
1
£, = ~
. .

16, R A=la,b,c dl, A AF A T B |19, Preferfes s W R S
e 7 R ? 1. foed i o 3 53 TRER 2R B wiiesar R
(a) 16 ?%\z-ﬁuaéﬁsarﬁmaﬁa%wﬁma%g@
, ‘ | \
- (o) 15 - 2. il HER A 5 AR AN Y e 3t WA
T # 5 WHar B o mRimar 3 i # |
saRfefad # 3 v oA s wd &8 2
(dy, 12 (a) &acT 1

17. & 3t ach fow wet 3t 1, 2, 3, 4,5, 6|, (b)) HET 2

T W e T TR ¥ | S sidt. @ g Wi (¢ 13k 2
%,ﬁﬁ?ﬁ?ﬁ@ﬁﬁﬁ’ﬁ%‘? @ A 13RI 2
{a) 60 '

' 20, frafaReg FoE ) fTar Sifsw -

by 108 1L gk A =A@ ACS seevIg AR R,
© 120 - ' | FE A ¢ A oRad |

o : : 2, dRAPE af EEEE AR & b AS =1,
(d) 216 ar A Fapaeig ¢ |

s & 1 Joifefag &9 5 wd T w88 ?
18. mr«?ﬁv%i\:[z . SJsﬁtnﬁaﬁﬁe (a) ¥ad 1

: : (b) wad 2
%%H@gB’@m?%%:(zz 49],#[ © 13k

) - (@) Ad1zkad 2
B d.? : |
21. ot e TR AT & pd UE @ p AN IEE gd
5 1 4 9= H g TR, @ (p + @)l 12 fvud swar & 2
@ 12 6 3] | (@ p+a
, : (b) pq
2 6 3 ) 1
5 1 4 |
22. - 12 fafeal & ot o ¥ 8 faofzal & s
> 2 T N S § | 39 3o Raemisdl A A uh @
ek |+ 6 - oEE R R P IFAS g S & | b
4 3). , foem ver § fovar = waar & 2
5 (a) 27720 '
(b) 13860
e ! (¢) 6930
* @ 495
Q-OEBA-K-NBU N7 - A)
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23. In tossing three coins at a time, what is the | 27.
probability of getting at most one head ?
. :
q) 2
(a) 8
7
B L
(b) 3
1
(c) E
1
{d) 3
28.
24. What is the sum of-the coefficients of all the
terms in the expansion of (45x — 49)* 7
- {(a) -256
(b} . —-100
(¢} 100
6
R 29.
25. Two balls are selected from a box | containing
2 blue and 7 red balls. What is the probability
that at least one ball is blue ?
2
(a) 6
7
b) — »
9 30.
5
(c) ']'E
_ by o8
d) —
(d) 12
26. If the equation x2 — bx + 1 = 0 does not
possess real roots, then which one of the
following is correct ? )
(8) —8<b< 3
by —2<b<2
) b>2
@ b<-2
Q-OEBA-K-NBU (8- A)
Dream Dare Win 8

' (c)

~ ’

.

The probability of guessing a correct answertis

%. If the probability of ‘not guessihg the

correct answer is 3 then what is x equal to ?

(a)
(b}

(o2 T~ S - T ]

(d)

If the system of equations 2x + 3y = 7 and
2ax + (a + b)y = 28 has infinitely many

solutions, then which one of the following is

correct ?

(a) a=2b
(b) b=2a
(¢} a=-=2b
(d} b=+2a

If p and g are the roots of the equation
x> — px + q = 0, then what aré the values
of p and q respectively ?

(a) 1,0
(by 0,1
(€) —2,0

dy -2,1

Consider the following statements related to a
variable X having a binomial " distribution

by(n, p) , '
1
1. If p= 5,

symmetrical.

2.  p remaining constant, P(X = r) increases
as n increases.

Which of the statements given above is/are
correct ? '

(a) 1 only

(b} 2only

(c) Both1and?2
{d) Neither 1 nor 2

then the distribution is

WWW.jeywin.com




Dream Dare Win

©23.

Dream Dare Win

WWW.jeywin.com

'-easmmqmmmraasmrmua

27,
oY wIt €1 @ wiftmdr o @ ?
@ T
7
(b) 3
1
{c) E
1
@ 3 .
24, (45x — 49)% ¥ ReER ¥ Wl W@ & e o
e T & 7 28.
(a) —256
(b) —100
(¢} 100 ;
@ 256 '
25. ©H GgE § 2 N ik 7 o W F e Y o i
A A § | gHh! o e € i HH-U-30 U (g9,
g Siel g P
2
(a) 5
7
(b) 3
5
(¢ E
] 30.
(d) 12
26, aRk wloor k% - bx + 1=0 % aRalE g
T ARt dashaad e
{a) —3<b<«3
(b) —2<b<?
© b2
() b<-2
Q—OEBA—I_(—NBU {9 - A}

(d) b=

%ﬂﬁmmmmaﬁwﬁaﬂ— 2| R

ﬂ‘@rmwmqaﬂﬁaﬁmﬁm 3 g @ x®

A R®AE ?

(a) 2
(b) 3
() 4
d) 6

CwR wERe frem 2x‘+3'y=7 o

2ax+(a+b)y=28 %m?a%,a“r
freffmdasm e & ?

(a) a=2b

() b=2a

{c) a=-2b

.—2a

g e x° —px+q=0 aiﬂa?fpliﬁ?q? Kl
p 3R q & 7 wHeT wE 2

(a) 1,0
(b) 0,1
{c) _—' 2,0

@ -2l

B 7 by(n, p) @ W X § wRlum
Frefoles s w ar 95w -

1., ﬁp:l,ammﬁqﬁ%d

2. p3wR g, a’rP(X_r)aﬁnT:r%aanasim:r
- S

mﬁ%ﬁamﬁ%aﬂqmmm'%ré?

(a) 1

(b) WA 2

(©) 13R2a=t

@ FTFar1adRAaADT2
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31. What is the number of ways of arranging [35: The order of a set A is 3 and that of a set
the letters of the word ‘BANANA so that B iz 2. What is the number. of relations
no two N's appear together ? ‘ from A to B ?

{a) 40 (a) 4
(b} 60 (b 6
{c}y 80 {cy 32
(d)y 100 (d) 64

- : log do (H)

32. Consider the equation (x - p} (x - 6) + 1 = 0 |36. What is the value of Tog — () ?
having integral coefficienits. If the eguation o yuBy .
has integral roots, then what values can’p (a) ]ogOlﬁ (o)

- have 7 ' ' '
. (b) 10ga[hr {af)

(a) 4or8
() log,, (afy)

(b) 5orl0 ,

' (d) 1 :

(c) 6or 12 oy iF)

(d) 3ors6 37. The 59 term of an AP is 449 and the
449t term is 59. Which term is equal to

?2 '

33. What is the equivalent binary number of 0 taero)
the decimal number 13-625 ? ta) 501* term
() 1101111 (b) 502" term
(b) 1111-101 (¢) 508" term
(¢} 1101101 (d) 509 term
(d) 1111:111 - o ‘

38. Foraset A, consider the following statements :
_ 1. A UPA) = PA)
34. What is the value of 2. 1Al N PA) = A
200 3 200 : — 3
i+43 i-J3 1 3. P(A) - {A} = P{A)
chandl | ¢ c 7Y oL " where P denotes power set. ‘
: ‘ Which of the statements given above is/are
(a) -t cotfrect ? ‘
®) 0 (a) lonly
: (b) 2 only
(e 1 @ 3 ailly
(d) 2 . (d} 1,2 and 3

O-OEBA—K-NBU. (10 - A)
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Tqey A @ TOA-HH 3§ 3R UF WTd B &

o® BANANA & 3Rl & 50 R waifsts a1 | 85.
3, s P 2 Noow ary 7 a8, e RS € ? 2% | AV BOe e S g@T D ?
(a) 40 ta) 4 ‘
(b) 60 ®) 6
() 80 (©) 32
(. 100 @ &
' ' ‘ " log — (H)
32. WWG’[@W x-p)(x 6)'1'1_ 36. —_J_ﬂ.__[;— aﬂ-mw%p
Wﬁana%%ﬁlﬂﬁaﬁmm%rgaguﬁm% WP log - (F) ;
apy
T A T & HHA B 7
‘ _ (a) - log,g (o)
(a) 43Ua8 :
“ Ok » {b) loguBY ()
(b) 5 M@ 10 .
() Jog,p (afy)
(¢) 6 37y 12 @ log,, () '
(d) 336
37. ﬁﬁwﬁmswmuﬁﬁhu%m
59 % | ﬁawqaowfa Y82
33. .Zed O 13-625 @ WAEY ’t‘aarrf:r& e
' T ? (a) 5014 TT
(a) 1101:111 (b)  B02EL ¥
by TLLLI0% () 5081 v
(¢ 1101:101 (@) 509dl W&
() « LAY 38. Frd wema A ¥ fe, rfefen ool w RRER
___34. (1448 200 . (5 200 . 1, 1 ngP(A):P(A)
i+ 43 \ie V3 2. [AINPA)=A
o 3. PlA) — (A} = PA)
A FT R P
. el Pl 3 & wa agead |
(a) -1 mﬁfaﬁaaasﬂﬁ#ﬁqwma@r%‘/%ﬁ
o 0 (a) ®ad 1 )
‘ (b) e 2
" _
= (©) a3
d 2 (d) 1,23 3
Q-OERA-K-NBU (11 - A
Dream Dare Win — ] . 11
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39, If the AM and HM of two numbers are 27 and

What is the maximum point on the curve

43.
12 respectively, then what is their GM equal x = ey ?
to ? . .
(a) 12 (a). (1, e)
(b) 18 (b) (1,
() 24 (© (e 1)
. +
(dy 27
. @ (1
: 1 1 .
40. I tan A= - and tan B = =, then what is :
2 3~ ‘ 44. The funetion fix) =e*, xeR is
the value of (A + B) 7 ‘
(@) 0 (a) Onto but not one-one
T
o 4 (b)  One-one onto
. n . .
(c) 9 . (c) One-one but not onte
d :
‘( 7 (d) Neither one-one nor onto
41. If (4, 0) and (- 4, 0) are the foci of an ellipse _
and the semi-minor axis is 3, then the ellipse | dx | _ . dy . ‘
passes: through which one of the following L el (1_;_4}(2} kv whist 15 dx equal
points ? to ? ' '
(a} (2,0
B (0,5 (@) —=
- ! 1+4x2
{e) (0,0)
(dy (5, O '1
(b} - =
1+4x
42. Under what condition do the planes
bx ~ay=n, ey —bz=1I az—-—cx=m ,
intersect in a line -? ' , 4
{c)
(a8) a+b+c=0 1+ 4%2
{b) a=b=c¢
(¢ al+bm+en=20 (d).'4x2
1+4x
d [+m+n=0
Q-OEBA-K-NBU {12 - A )
Dream Dare Win 12l WWW.jeywin.com
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- 39, ot 3wl & TR Wer AR WS M (43, 95 x =y @ e Rgawd ?

Faer 27 3k 12 &, 1 379 oieR AT F R 2 (a) (1,e
(@) 12 by (1, e
(by 18

(¢) (g 1)
(¢) 24

(@ (e, 1)
(d) 27 '

40, g tanA:% .Sﬁ'\" tanB:%, al (A + B) |44, B flxy=e", xeR

o AW T 2 -(a) DD & R ThdH T8l

(a) 0O ‘ b
: (b) THP TEEDS &

® =

: (¢) uddr & fieg ameoes T
@ = ,

2 (d) T eha 2 ik 9 & Irmes
dy = _

41, uﬁﬁsﬁta’ﬁﬁﬁ-a’s’rmﬁmﬁ(4,0)m(—4,0)§ o ea]. Ew i 'gp
| 3ﬁ'\'3¢ﬁﬂ§3¥&13%,?ﬁﬁrﬁ%‘@a%§3ﬁﬁ@45' U’?Y—Sm m.a‘fdxaﬂmm :
farery Erefger TR B ?

(a) 2,0 _‘ @ . 1 .
' 1+4x
by (0, 5)
© ©0 |
’ b - —
@ (5,0 ‘ | T

42, %ﬂﬂﬁlﬁ’rﬂ%%ﬁﬁbx—ay:n, cy—bz;l,
az—cx=m U@ A Wed € ? '

© e
. . -
(a) a+b+c=0 %
%) a=b=e
: 4x
- d
(¢) al+bm+en=0 '(). o’

d l+m+n=0

Q-OEBA-K-NBU (13 = A)
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* 46,  What is the value of & for which the vectors {50. What is the derivative of
A A A A o A AL A A .
i-J+k, 214k, Ai -1 +rk xaz_x2+a25in—1(iJ?
are coplanar ? 4
(a} 1 fa) ya?-x?
(b) 2
(b) 2a%_x2
(c) 3
. . 2_ 2 ;
@ 4 ) (¢) x“-a
(d) 24x%-a?
47. What js the equation of the plane through
z-axis and parallel to the line
x-1 y+2 z-3 . : 51l. If (-5, 4) divides the line segment between
cos® sing 0 - the coordinate axes in the ratio 1 : 2, then
: what is its equation ? :
(a) xecotB+y=0
(b) xtanB-y=0 # | "(a) Bx+5y+20=0
& x+ycoto0=0 (b) B5x+8y-7=0
‘) x—-ytan9=0 : ; {¢) 8x—5y+60=0
48, Ifthelines 3y +4x=1, y=x+5 and| (@ Bx-By+57=0
S5y + bx = 3 are concurrent, then what is ’
the value of b ? 562. What is the value of
(a) 1 cos15°  sin 15° cos 45°  cos 15°
b 3 cos 45°  sin 45° sin45°  sin15°
{c) 6 :
(a) 1
(dy 0 4
49.  What is the least value of (b) g '
fx) = 2x% — 3x% - 12x + 1 on [-2, 2:5] ?
(a) -3 ' -
1 :
> 8 | © -7
) () -19 .
@ -165 @ 2
- 4
Q-OEBA-K-NBU { 14 - A )
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x\fa2 —x% +a%sin™! [E) &I aSeT FAT 8 ?
a

- - Aooa s |50
46. 2o e e ARy i - + k,
A A A A A A . ’
2i +j —k, Ai -] +ik WHGAQ & ?
. 2l
@ 1 (a) a“—x
c)y 3 o
’ 2 )
(d 4 () yx"-a
T (@) 24x%-aZ
417, x-1 _¥+2 23 % mmm 3k
cos@  sing 0 ’
2318 ¥ IR I WHaE ® wexor 71 € P |51, afd Frdemelt & 99 & Y@ravs @ (- 5, 4), IFAE
1:2 # fofog oxar &, O sw@r 9a@ROT @
(a) xcotB+y=0 &0
(b) xtanB-y=20
: (a) 8x+by+20=0
(c] x+ycot®=0 :
' ’ b) 5x+8 —7=0"
{(d}) x—ytan8 =0 th) “px » By
. ' : (¢) 8Bx-5y+60=0
48, TR W 3y+4dx=1, y=x+5 3R
' Sy +bx =3 & AbBmATTIE ? (d) B5x-8y+57=0
(a)y 1
52, cos15°  sin 15° cos 45°  cos 15°
(b) 3 X
: G2l
cos 45°  sin 45° sin 45°  sin 15°
{¢} 6 .
qe Fa g 2
(d) 0 - i
4
49, [-2,25] W fix)=2x3 - 3x% - 12x + 1 &
AT T 8 P ' © V3
2
(a) -3
(b) 8 1 .
(c). 1
{c} -19
3
(d) -165 o
_ (d) i
Q-OEBA-K-NBU (_ 15 - A}
Dream Dare.Win 15 WWW.jeywin.com
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53. Out of 32 persons, 30 invest in National |57, What is the geométﬁc interpretation of :the

Savings Certificates and 17 invest in shares. identity (2 — B’ yx(a + b )=2(a x b )7?
What is the number of persons who invest in 1. If the diagonals of a given parallelogram
both ? : . are used as sides of a' second
‘ , _ parallelogram, then the area of the
(@) 13 second parallelogram is twice that of the
. given parallelogram.
(by 15 : _ 2. If the semi-diagonals of a given
' _ _ parallelogram are used as sides of a
(¢ 17 _ second parallelogram, then the area of
, " the second- parallelogram is half that of
d) 19 ' ' the given parallelogram.
: . Select the correct, answer usmg the code given
54. What are the equations of the directrices of below :
the ellipse 25x? + 16y2 = 400 7 . (a) 1enly
(a) B3x+25=0 - ®) 2 only
. o : _ : i {c? Both 1 and 2
(b) 3y+25=0 : ~ (d) Neither 1 nor 2
{0 x+16=0 ’ w2 .
58. What is I =T = dx 7
(d) y+25=0 sin® x + cos® x '
0
55. Let A be an n x n matrix. If . (@ =
det (AMA) = 2° det (A), what is the value of b =
s ? ' 2
5 L
; o X
(@ 0 , . (,)' 3
L @ o
@ -1 , 59. The function flx) = from R to R is
’ : x% 41
(d) = .
(a) One-one as well as onto
2 2 :
56. Let E be the ellipse X 4% _—landChe (b)  Onto but not one-one
' ‘ . 3 2 9 4 (¢) Neither one-one nor onto
the circle x*+y“=9. Let P=(1, 2) and O O h .
Q = (2, 1). Which one of the following is. (d) | Rl ut not-onto
correct ? : ) ' 60. If A be'a real skew-symmetric matrix of order

n such that A2 + .= 0, I being ‘the identity
matrix of the same order as that of A, then
what is the order of A ? :

. . (a) 3.

(¢} P lies inside both C and E- ' (b} Qdd

(a) Q lies inside C but outside E

(b) Q lies outside both C and B

_(c) Prime number

(d) Pilies inside C but ‘outside E
’ (d) Eyen

Q-OEBA-K-NBU ' b {16 - A}
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32 il § 3 30 0 § 3 U aT AL

> ﬁﬁ%ﬂﬁﬁ%‘ﬁhﬂﬁ@r%shs‘mﬂﬁiﬁm.
il B < T & 3h A F Frder a # 2
(a) 13 ' '
(b) 15
(¢} 17
@ 19
dfmm 25x? + 16y% = 400 F FroAwl B
iR 7§ ?
(@) 3x£2520 -
(b) 3y+25=10
(i ®+t15=0
(d) y+256=0
55. WH 5, ABE nxn EE§ | O
det (AA) = 2* det (A), T s T 79 T & ?
(a) 0
(b) 1
© -1
- (d) n 59.
56. mﬁmE%ﬁﬁﬁ%Jr%:iﬁ{C%
aq xiy=9 WAWRE P=(1,2 3R
Q=1 Fefefea & aaq o w22 -
(@) QFC¥ W fg B T
(b) QR C¥RE T & aR
{c) _P%‘Caﬂzﬁaﬁi%sﬁm
(d) P?C% HR fog E & TR

{17 - A

58. -

()

TiafrEr (& —g)x(a +T)))'=2(5.) XT)’)
o Saharg aeed @ @ 2

1. aﬁ%ﬁ%&wwaﬁ%ﬁmﬁaﬁ%

gﬁ%wa@jﬂaﬁmﬂsmﬁmﬂg
forar STE, A SR WANGR TS @ BB
T FHIR TYST & SEBa @ g 80 |

. Eaﬁgﬂ%ﬂwagﬁaa%gamﬂﬁmﬁm
T s, < gER FER gy @ e fae
U FAOR TS & & S JET 8 |

9 e m pT & v ax w I g

(@) a1

(b) @& 2

S () 13k 22F

(@ A 13RTI2

/2

J' sin® x »
" sin® x + cos® x

0

dx FE?

{a)

El

(b)

Sle walH

{c)
d) 0

R ¥ R &0 B flx) = —-

x“+1

(a) wha AT BRED &

(b) 3eETEs § fhg whd @

(¢} i vk & 3l 7 & 3OS
(d) uhd & T amemEs T8

oy A B DR n @7 arafds fawm-wniia segg
g R & 6 A2 + 1 = 0, 5=l I 30 BT &
mﬂmm@g%ﬁvaﬁ%aﬂz&ﬁma&aﬁ%m
=

(a) 3

(b) foum

(c) UTST &=l

W,

17
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Directions : For the next 3 (three) questions to (64, What is the sum of all naturil numbers

follow : . : between 200 and 400 which are divigible by
The table below gives an incomplete fréquency 7 :
_ distributioq with two missing frequencies f, (a) 6729
and f2. ' ;
) _ .(b) 8712
Value of X | Frequency | (c)_ 8729 -
0 T £ . : (d} 9276
1 ' -, 65. ‘The mean and variance of a binomial
’ (distribution are 8 and 4 respectively, What is
2 : 4 . - P(X =1)equal to ? '
3 ‘ 4 ) 1 5 . .
] 5 - (a) Ty
4 3 2
. The total frequenecy is 18 and the arithmetic b =
7 mean of X is 2, : 2
61. 'What is the value of £ 7 ' (o) . é‘lg-
(a) 4 ' | o
b). 3 - (d) %
ROBER &,
(d) - 1

166, Whatis | e/*sinxdx equal to?

- 62. What is the standard deviation ? I . .
. a (a) e?**(sinx—cosx)+¢

J5
(a_l_) » B (b) (sinx—xcosx)+c
() xsinx+cosx)+c .
Jg ; .. . e
(b) 5 {(d) (sinx+ X cosx)+c
. 4 where c is a constant of integration..
(&) — ‘ . '
3 . 67. An observed event B can occur after one of
i _1§ ' the three events A, A, Ag It .
9 | P(A)) = P(A,) = 04, P(A) = 0-2 -and
63. Wbat is the coefficient of variance 7 e P(B| A =.025, PB|A,) = (').4, ' _
(a) 2—29 P(B |A3) = 0-125, what is the probability of
: o A, after observing B ?
o5 T o s
. (b) - : . : . (&) 1/8-
. ' S () 6/19
() 940 | ' : !
- f } “ s (c) 20/57
(d) 150 , _ @ 2/5
Q-OEBA-K-NBU _ , (18 — A}
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Bt sk s S B

|64. 200 3R 400 F & 7 ¥ Rt W gy
. . . . (Tepieras) HEmalt ot drThd T E P
ey B IRV F o qef aRERe de fear & e
a1 aRERa f, 3R f, Frgared € | (a) 6729
(b) . 8712
X B AM, R (c) 8729
0 £ @- 9276
1 £,
- ' . 65. T feue des1 & wney oIk wewor o 8 Ak 4 € |
_ P(X = 1) & 05 71 § ?
3 4 ;
T IRaRar 18 & 3R X & iR Wem 2 % | & L
28
6L, f,SIATTIE ? g
- v ¢} —%
(a) 4 . 2
by 3 .
@ L
fc) 2 Y
(d) 1
62. e fge war € 2 T 66, " ¥ginxdxy FHTFNE ?
(a) E (a) e*(sinx—cosx)+c
. (b) (sinx-—xcosx)+¢
l(b) [5— (¢} (xsinx +cosx)+c
43 {dY (sinx+xcosx)+¢
(c) E el ¢ U THIhe-HEN & |
@ 2 -
9 67. & ARl A, A, A, B 0N T e
63. s Ui d ? e B We W@l & | IR PA)) = P(A,) = 04,
P(A,) = 0:2 @1 PB|A) =025,
@ 20 P(B|A,) = 04, P(B|A;) = 0-125, 3 B % e
3 & 9E A, D WRISA T ¢ ? |
(b) % (@) 1/3 . 4
9
(by 6/19
600
(&) —
s (c) 20/57
(d) 150 (d) 2/5
Q-OEBA-K-NBU {19 - A )
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4
68. What is J'x2+1 dx equal to? 72.
) x“+1
X3 1
(a) —3—-—x+4tan_ X+ ¢
ral : i
(b)Y — +x+4tan "x+¢c
X3 = w2]
(c) ?—x+2tan_x+c
3 3.
(d) X?—x--_ti’can"'lx+c
where ¢ is a constant of integration.
i x+4
69. What is the value of lim [ J .7
. : x—e | X41 / :
(a) e .
b e
) &t
d) &°
70. What is the area of the triangle with vertices |74,
(0,2,2), (2,0,~1) and (3,4,0) 7
(a) 15/2 square units
(b} 15 square units
() 7/2 square units
{d) 7 square units
71. is one of the roots of
2 ,I
75,
ax? + bx + ¢ = 0 where a, b; ¢ are real, then
‘what are the values of a, b, ¢ respectively ?
@ 6, -4, 1.°
(by 4,.6, -1
{c) 3, —2y 1
d) 6, 4, 1
Q-OEBA-K-N8U (20 - A)
Dream Dare Win 20
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T -
X:(D2

X2+ 4x + 79

(a) -2
(b) -1
(e} 0
d 1
If cos x # =1, then what is _Swex
_ l1+cosx
equal to ?
X
— cot —
(a) co 2
X
b t —
(b) co 2
{c) tan =
L
(d) —tan.=

The angle of elevation of the tip of a flag post
from a point 5 m away from its base is 75°.
What is the approximate helght of the. ﬂag
post ?

{a) 15 m

(hY 17 m

© 19m

(d 21m

If A = P(1, 2}) where P .denotes the

- power set, then which -one of the following

is correct 7

(@ {1,21'Cc A
(b) .-1 e A
© ggA
(dy {1,20eA

is a complex cube root of unity and’
— @ — 2, then what is the value of

WWW.jeywin.com
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o, _
68. - Jx2+1 dx HARFIE? |72, o @ @ oS whuE oEE o ® R
: =il . x=af—0-2% @ x®+4x+7 & AT
, = ' g7 .
(a) %—x+4t§.n_]'x+_c b ".'zl
g : : - (b) =1
(b} —+x+4tan_1x+c
: 3 . () O
5, : d 1
(c) %—x+2tan“lx+c . ' '
" | |78 o ocosx 2 -1, @ o mER TR ?
-X T “1l+cosx
(d) — -x—-4tanh” x+¢ ]
3 : X
- : (a) —cot ~
el ¢ Uh THmEH-3TER # | 2
4 (b) cot..-g
X+ - !
£ 69, lim (“6] A T ? - :
§ x—oew | X+1 {c) tan = ;
. 2_ :
B @ -tan =
by ¢ 2
(e) et . , - ' C
@ : 74. Flt eas-ave & BR &1 390 D01 IS WER F
e

_ : , 5m gl R g ¥ 75§71 wIans @
70. W (0,2,2), 2,0,-1) ARG 4,0 EyF| | emmEaE w2 s

o EATE RAE P ‘ :
8L (a) 16 m
(a)  15/2 @ 3o A

(b) 15 @ y

© /29 o {c) 19m

) TEEE | i) Sl

_7‘1, A ax +bx+c=0 @ TS el 27_1/3%75. ;TEA?P(U,ZDET?‘TPWWaﬁmﬁ
| - | o &, o P 8 3 o W AR # 2
5@ a, b, c IRATD &, A, a, b, ¢ & HA HUIE _

Far & ? (@) (L 2ICA

(a) .6, -4, 1. » (b) 1eA

(b).” 4, FS, -1 () ped

c) 3 -2;1
dy 1,2} e A

. 6 4, 1 :

0-OERA-K-NBU - N (21 -AY)
Dream Dare Win ' 21 Www.jeywin.com
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76.  The geometric mean of three numbers was |80, In a triangle ABC, BC = \/ﬁ’ AC = 5~'am-j
computed as 6. It was subsequently found AR ' :

that, in this computation, a number 8 was A?
wrongly read- as 12. What is the correct

= 7. What is the measure of the angle

; 9
geometric mean ! Pl L
(a) 4. ' .4
} ' b L
(b} g/g (b) 3
() 933 : . () g
(d) None of the above n
d) -
. B
Tt k| © 1, whe e 1+9i
77. t = = i ly ', i = Ly & 3 » : . 3
© 3 4 [a’-' Wler? et 81. Whatis the modulus of ~1+—212 ?
‘ - . 1-(1-i
its inverse matrix is [biJ], what is b22 ? " BT
; (a) 1
’ (a) -2
(b) - JE
by 1 , - . ‘
g ' © 3
(c) E . ‘
1 @ 5
e i
{d) 2

: Lo ny 82. If the line through the points Ak, 1, -1) and
- 78.  The angle A lies in the third quadrant and it | . B(2k, 0, 2) is perpendicular to the line
' ' through the points B and C (2 + 2k, k, 1}, then"

tisfies th tion 4 (sin? =1 :
satishes the equation 4 (sin® x + cos x) whisie 1s.64e VaIGE o6k 7

What is the measure of the angle A ?

(a) -1

. L
(@) 225° o (b) 1
() 240° . - (© -3
() 210°- : @ 3

(d} None of the above

(83. What is j - dx equal to ?
8" . : ' . J 1+e®
. 79,  What is the area enclosed between _the curves ‘
‘ y2 = 12x and the lines x=0 and y =6 ? - @ x-in £
(a) 2 square units . K (b) x-In(tanx) +c
(b} 4 square units ' ) z-Inl+eM+ec
(¢} 6 square units ’ _ @ In(l+ed+e |
(d) 8 square units ' i : where ¢ is a constant of integration.

Q-OEBA-K-NBU . {22 -A)
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fdh Bt ABC #, BC = V39,

AC =5 3R |
am 5 3| wor A b SEd 8 @ T ¥ 12 1% AB=T2 | @0 AP U & & ?
form oy e | W) iR TTed & § P _
By 4 (a),'g
b 3
& ¥ (b), %
(¢ 2818 L
@ RRRE ¥ ¥ o 78 © 3
| @ Z
, 1 2 . - ‘ 6
-7 W%EA'—'{ ]=[ajj], ey, j=1,2
. 3 4
b..] & @ b, @ : »
¥ oft gwEe geew TR [by] § oy | 1+212 - >
g7 —{1 1) ‘
(a) -2 (a) 1
) - 13 ® 5
e =
2 (c) J3
1
b -3 @ 5
8. ?UT A, E}_1;% aﬂ?mﬁ%lmsz. uﬁﬁgaﬁ_z\(k,1,-1)3ﬁTB(2k,o,*2)¢r1pﬂ??r
o " s cos 2 2 © Y Rl B C 2+ 2k, k, 1) S & X
A® T @ E P _ .
Re@eg Ak oTFNE?
@ 225° @ -1
(b) 240° by 1
(¢) 210° (¢) -3
(d) FoRfefaa § 3 oK 76 (d 3
79. aaiy—12x3ﬁ7<'i'@l3ﬂx—0?ﬁﬂ y_ez‘ﬁsg, j I 4 mamamd?
g @ dEwa T # P : L+e”
aﬁsﬂﬂé (a) x-lnx+c'
- A & () x-inftanx) + ¢
(b) 4 o gBT% (&) x-In(l+e5+c
(c) 6afgas @ MmQ+ed+c
(d) 8arf sas aﬁcu_zﬁ:ﬁw——r-m%]
| _ Q-OEBA-K-NBU { 23 - A}
Dream Dare Win - 23
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84.

" g A A A = A
88. The vectors a =xi +yj +2k, b = k/
(a) continuous for all values of x . ,
(b) discontinuous everywhere T are such that they form a right-handed
() continuous for all x except at x = nn, _ LD
where n is an integer gystem. What is ¢ equal to ?
(d). continuous for all x except at x = nn/2, A
where n is an integer (a) ]
' ‘a A
85. What is the solution of the differential (b wj —xk
equation 'a[xd—y + 2y] = xyd—y 74 i %
dx T dx (@ yi - xj
2. % A A
(@) x*= kye (d) xi - yj
2 £ 42
a
(b)  yx" = kye 89. If x=t2 y=t% then whatis —32’ equal
to? ' 4%,
. : el '
© y**= kye® (a) 1
(d) I None of the above (b) i
' 2t
" where k is a constant. ;
3
5 t (C) E
86, A vector b is collinear with the vector .
2 = {2, 1, -1) and salisfies the condition |. () 3
- 2 ; . o : 2
a » b =3 What is b equal to ?
(@) ', 1/2, -1/2) o
=
(b) (2/3, 1/3, -1/3)
90. What is J tan® x dx equal to ?
() (1/2, 1/4, -1/4) .
-1
(d): (1,1, 0) 4 .
87. What is the least positive integer n for which () 3
n
1+i 1
=17 =
(l—iJ L 3
c(a) 16 1
. ¥ o a (C) o
o 12 2
(c) 8
d) 4 (dy 0
Q-OEBA-K-NBU (24 - A )
Dream Dare Win 24 WWW.jeywin.com
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84. ' W flx) = x cosec x , 88. Hﬁﬂz=x$+y3+zi, g:?{, c
(@ x% |l a9 $ fow daa g ol Frem e € 1 ¢ mAE @ # 2
(b) w3 3rFaa 2 : A
(© x % T E B fre e ¥ g x = ox bt 4
foe 78, 578 n e ois @ A
() x& wf ar & fore dad 2 fe=) x = nn/2 ) 3j —xk
- % T wd, 7 0w e © A
() yi —x]
85, 3ME@H GHIGRUT a(xiz =S 2y]=xyd—y T e
dx dx oA A
(d) xi —yj
FE P
2 L 9
> - a :
(o] ats ke 89, TR x=t2 y=t5 @ i{—z o IE T ?
¥
(b} yx* = kye® : (@ 1
3
2 (b) 5
(&) y?x® = kye 2
- © %
(d) IuRftEa § ¥ o 76
SET k @15 3R ¢ | (d) g
6. @ wRw b et e d =2, 1, -p @ WRa
gakufmy 3 - b =3B AR BRAE ! b
DA R E ? . %
(@ (1, 1/2,-1/2) 90. J- tan® xdx BN AT FTE ?
(b) (2/3, 1/3, -1/3) T
4
© -(1/2, 1/4, -1/4)
d (11,0 (a) V3
87. G“] =1 ¥ fore =g arers qofe n @ (b) %
-1
2?
@ L
(a) 16 2
- {b) 12
() 8 (d) 0
(d)
0-OEBA-K-NBU {256 - A) -
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91. Let O(, 0,0, P(3, 4 5, QUm n, r) 95
and R(1, 1, 1) "~ be the vertices of a
parallelogram taken in order. What is the
value of m + n + r ?

(a) 6

(b) 12

(c) 15

(d) More than 15

92. What is the solutio_n of the differential |

equation 3 e* tan y dx + (1 + e sec’? ydy =0 ?
(a) Q+eMtany=c
(b) (1 + e tan y=c¢
1 X2 t' -
(c) (1+e% dn.y c 96.
@ (1+eMsedy=c
“where ¢ is a constant of integration.

93. What is the locus of peints, the difference of
whose distances from two points being
constant ? ‘ .

(a) Pair of straight lines

(b) An ellipse

(¢} A hyperbola

{d) A parabola 97,

94, What is the differential equation for

yi=da(x—a)?
(@) yy -2xyy +y2=0
® vy +2x)+y>=0
© oy -20+y>=0
d) y -2xyy +3y=0
Q-OEBA-K-NBU ({26 -~ A)

" If the angle between the vectors a and b

By

is %, what is the ahgle between —52 and

—

6p 7 -
‘(a) &
S
by 2=
3 3
@ 2
© B
@ 32t
7 \

What is the degree of the differential equation

2 3
d—y-1/1+(-dl) =0 ?
dx? dx

(a) 1
{b) 2
() 3
(d) 8 |

3

If szlnxdx=-x—lnx+x—.+c, then
m S |

what are the values of m and n respectively ?

(a) 1/3, -1/9
(b) 3, -9
& 3, 9
@ 3 3

where ¢ is a constant of integration.
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R

® . :
91, ' AT 5 00, 0,0), P(3, 4, 5), Q(m,n, 1|95, afk =imi & sk b % éﬁaasrﬁmg*s‘, ar
MR LD B o ol & e 5 >
WEE L mensr o R ~5a 3R6b T AL ?
{(a) 6
. (a) Z.
h 12 &
© 15 m =
3
(d) 153 3fE®
- (© 35’—‘
92. 3G AHIHIOT
3e*tanydx+ (1 +e¥sec? ydy=0
: 3n
HEA TR ? (d) s
(a) (1+eYtany=c
(b) :(1+ex)3tany=°' 96. BT THEROT %_ 1+[j—y}3_0 3
© Q+etany=c o dx- *
, : o Far ¢ ?
d) (1+e*sec?y=c
STl ¢ UF FHGIH-3R & | (@) 1
| . o . (b) 2 ;
93. < fogell & gRAT § wam sreR A fagall @
fegurang? () 3
(a) ¥R I@-GH (@ 6
(b) fga 3 3 R
97. R szlnxdx=x—lnx+x—+c, ar
{¢) 3fdRama e n .
m 3R n & A FEE FE ?
(d) wRard ‘- '
_ (a) 1/3, =1/9
94. y2=4da(x—a) & L o TG ®T & ? i :
; (by 3, -9
(a) yy’—2xyy’+y2=0 ;
(B ¥y oy + 2% +y2 =0 fer 3, 8
© ¥y -20+y2=0 @ 3,8
d) vy —-2xyy'+y=0 .
. FET ¢ U TGN ¢ |
Q-OEBA-K-NBU {27 - A}
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98. 7 What is the principal value of cosec™! (- \/E )7 |102. What is the value of % ?
7 = i : . ~tan15°
(2) g @ 1
P a 1 '
. ; . b) —
® = ' 2
5 ,
. (c) P
, n NEY
(P) = I ) ;
@ 3
(d) 0 ' :
_ _ 103, If fix)=kx? - 9% +9x'+3 is inonotonically
99. Iff:R—R g:R>R Hhd g(x) = X + gl - incréasing in every interval, then,which' one -
and (fog)(x) = (x + 3)2, then. what is the value of th_e following is correct ?
-3)7 ' o ' N
of - 3) @ k<3
@ -9 b k<3
by 0 _ '
. ) k>3
{cy 9 ,
@ 3 (d ..kz 3
ot ( : 1}2 . }04. If sin™! g + sin™! 12 =3 —725 , then what is the.
100, What is the value of lim il ? ¥
' ' x-1 |x-1] value of x ?
(@ 0 _ , (@ 1
(b 1 ' o 'y - by 7
w : : ' , .
@ (© 13

(d) The Iimit does not exist
{dy 17

' 101. A balloon is pumped at the rate of 4 em?® per"
* - second. What is the rate at which its surface
area increases when its radius is 4 cm.?

105. If o, P are the roots of the quadratic
équation x% — x + 1 = 0, then which one

7 of the following is correct ? '

(@) 1 em%/fsec . -

' (@) (o* - p*) is real

) 2 J g

B2 emoce b 20+ ) = (@ pP

(C)- 3 cmZ/seé (o) (uﬁ _ BBJ =0

(d) 4 cm?*/sec o . 'a(m(ﬁ+ﬁ;mm8

Q-OEBA-K-NBU o (28 - A
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Yy 1+ tan 15°
98. cosec” (- V2 ) B [EI AH T & ? 102. ———— arrnqamé?
(a) E (a) 1
i
by —
w I V2
1
© ) E (c) -E
* @ 3
(@ ,0 * .
103, afE fix) = kx® — 9x% + 9x + 3 UG- A
99. ot f:R—->R, g:R->R 3R gx)=x+3 e g &, o Prafifad § @ o @ e el
qar  (fog)(x) = (x + 3)2, @ f(—3) & A & g7
g7 ;
: (a) k<3
{a) -9
b) k=<3
b 0 )
© 9 () k>3
(dy 3 (d) k=3
; (x - 1)? 5 12
100. lim - I HF FTE ? 104, g% sin ' 2 4sin?' 2=l @ xmoum wn
xo1 |x-1] ) X x 2 ;
(a) O e ?
by 1 (a) 1
ey -1 by 7
(d) v @ R 9 (¢) 13
' (@ 17
101, UF T&RT 4 cm® Wi VP08 @ ) W Perdr el
e B 4 AN 3OS TS Ame
%iam%: o 105. ofc fgora wfieRr x2 —x+1=0 & g0 o, B E,
| \ ' & Frferfas # & @ wod w2
(a) 1 cm*/sec @ @ —p% s
2
{(b) 2 cm“fsec B 25 5 p5) = (0 P
(¢} 3 cmZ/sec ' (@) (S-pB=0
(@) 4 em%/sec @ (cf +p% = (@p®
0Q-OEBA-K-NBU {29 - A)
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106. What is the value of V3 cosec 20° - sec 20°? |108. If angles A, B, C are in AP, then whial 1
' : sin A + 2 sin B + sin C equal to ?

(a) 1/4 2

(a) 4sin B cos® (A—;EJ
(by 4
€ 2 (b) " 4 sin B cos® [%) ‘
@ 1 o

) ; r 2 (A-C
107. The probability distribution of randem _ e} 4 pin (26) REE, ( 9 )
" variable X with twoe missing probabilities p, | '

and p, is given below :

(d) 4 sin (2B) cos® (ﬂ)

X PX) ; &
1 k
2 P; 109. StatementI: If -1<x<0, then

' : einl3) = 1 %2
3. Ak cos(sin™" x) = 1-x°,
4 P2 . Statement Il : If -1<x<0, then
5 2k _ . sin (cos 1 x) = JI —E

" It is further given that P(X = 2) = 0-25 and
P(X > 4) = 0-35. : _ Which one of the following is correct in respect

of the above statements ?
Consider the following statements :

statement I

1 3 : ; ' (a) Both statements 1 and II ~are
© P1=P independently correct and statement II
2. p +p,=PX=3) : is  the  correct explanation of

Which of the statements given above is/are ' :
(b} Both statements I and II are

. ) :

Coryess - independently correct but statement II
e is not the correct explanation of

(a) 1 only _ statement I -

(b} 2 only . . " (¢) Statement I is correct but statement II

is false ' :

{¢) Both 1 and2 ’ , _ ‘ §
: (d) Statement I is false but statement II is

{d) Neither 1 nor 2 # : correct

Q-OEBA-K-NBU * - (30 - A

Dream Dare Win 30 WWW.jeywin.com




Dream Dare Win WWW.jeywin.com

o . | )

106, /3 cosec.20° ~sec20° P AARIE ? | 108, 3fe &1 A, B, C wA=R oM A &,
) sinA+2sinB+sinC SIAN TR ?
(a) 1/4 .
(a) 4sinB cos? [HJ
by 4 2
@ 2
' : ' ' ; 2 (A-C
@ 1 _ (b) 4 sin B cos (T]
107. o4 aghes W X & miaddl dca,. Pt ¥ 4 cin (28 eoc? [A=C
2 st p, 3R p, s € A Rer man W Seipat) v [—2-—]
T
— (d) 4 sin (2B) cos® (A;C)
X P(X) 4
1 k
Ty e
3 '41{ 109. &I gt -1<sx<0, @
cos (sin~! x) = - Jl—x2 -
4 5
s g @l T —1<x<0, &
' ‘sin (cos™! x) = \Il—xz.

mﬁﬁﬁﬁﬁﬁm@né'%m}(szho-zs

@ PX > 4) = 0-35. mﬁﬁmwm,mmas
Pr=fifad oo )RR S - faw & Wt & 2 | |
1. p =0, - ‘ (@) W A I Rk I wdaE 9@ & R

‘ w0 I, o4 1 & Garcai i
2. py+p=PX=23) &

AR e e k2 2 ' (b),aﬁmlsﬂzllmvﬁt‘é%ﬁ
S : w11, oA 1 & T8 & el 8

“(a) a1 , -

(b) ¥aw 2 | (¢) @A 138 2 fomg oue 11 3w &

(@ 13 2 dE ' |

(@) o7 139a ¢ g oom L9 &

(d) Far1sRa&.2

G-OEBA-K-NBU {31 - A}
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110, StatementI: y = — tan'(x1) + 1 is an. 112, Let.a, b, ¢ be in AP. o .

increasing function of x. Consider the following statements :

Statement I dy is positive for all values of x.
dx -1 1 1 .
—, —, — arein AP.
- _ ab ca be
Which one of the following is correct in '

respect of the above statements ? - , : 1 1

o
2'_JE+JE’ Jerva' Ja+b

arein AP.
(a) Both statements I and II  are
independently correct and statement II

: ; Which of the state t b
is the correct explanation of Telt of vy shatgmenty gwen AboS dsfarte

correct ?
statement I *
(2) 1only
(b) Both statements 1 and II are
independently correct but statement II (b) 2 only
is not the correct explanation of| - :
statement I

(c) Bothland?2

(cj 'Statement I is correct but staternent II|.

is false {(d) Neither 1 nor 2

. (d) Statement [ is false but statement II is
correct ' 118. What is the differentiation of logx X w1th
respect to In x ?

111. Consider the following statements in (@) 0

respect of circles X% 4 y2 - 2x - 2y =0
and x* + y* = 1: - . . 1
1. The radius of the first circle is twice that | () 1/x°

of the second circle,
. d) x
2. Both the circles pass through the crigin.

Which of the statements gwen above is/are [114. What is tan (71 ) equal to ?
' - A2 .

correct 7

@ 1only . @ &+ B -E 2
(b) 2 only R O RPN - N
(¢} Both 1 and 2 © J6 - J3 + 43 —2

(d) Neither 1 nor 2

@ J6 +43 +42-2

Q-OEBA-K-NBU e, (32-A)
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® _ B ,
110. @UFl: y=-tanl (D + 1, x O UF aEE 112, A T £ a, b, ¢ WA S0 & & |
B B ' . Prferiea woet = frar S -
* - d 111
Fe Il : xéﬁﬁ%ﬁﬁﬁés%ulﬂmh L=, —, bcwmﬂcﬁﬁ%‘l
1 1 1
mﬁ%faﬁ?mwﬁ%ﬁﬁamaal 2. T Tl Tk
) : gaR Ao A |
(a) i w2 1 R 1. @dEw @ @ . 'm:ﬁ%aéh 5 ST
_ . ; NS R
oo 11, 397 [ & 92t @ g S '
_ a) oad 1
) e 1 3R I EdEw W B
: . (b) ®FA 2
T 11, oA 1 B T8 A= T 8
' (© 132
(¢ a1 ¥ 2 fog oo 1L o & "
i WIW%%WIFF&% ..'113. I log, x 1 3HaHeH &1 & ?
@ 0
‘lil.qﬁx-i-y -2x -2y = O‘éﬁ"\’ y—135 ]
ﬁwﬁﬁnﬁrﬁaaamhwf&aﬂa?rﬁv ;.
l _ (e 1x
1. wem ga o B g g O B & g o
g1 (d) =x
2. Ariga gEleg A ERAE | 114. tan.(mg),asrmqm%?
JoRfrRae wemi § & @ i W ¥ e @) J6 + 43 - 2 +2
al o ) 5 4 VB + vZ +2
(b) &TA 2
; € J6 -3 +42 -2
() 13K 2 N
@ TAl1dRTIS2 @ V6 + V3 +2 -2
Q-OEBA-K-NBU (33 -A)
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? 118. What is the angle between the diagonal of

one of the faces of the cube and the
diagonal of the cube intersecting the

cos 15° + cos 45°

.cos® 15° + cos® 45°

115. What is the value of

(a) i -diagonal of the face of the cube ?
. (@) cos™ (1/43)
(b) 2
(b) cos™* (2/43)
1 a - .
© 3 | | @ cost(v2/3)
(d) Nope of the above ' (d) cos (2 /3)
Directions : For the next 3 (three) questions to i - :
follow : : 119. Let a and b be two unit vectors and o be
—
The vertices of a cube are (0, 0, 0), (2, 0, 0), the angle between them. If ( a + b } is also
(0, 2,00,(0,0,2), (2,2,0), (2,0, 2), (0, 2, 2), the unit vector, then what is the value of o ?
{2, 2, 2) respectively. - : :
@ =
: 4
116. What is the angle between any two diagonals
of the cube ? '
- : ® 2
' C (@) cost(1/2)
(b) cos™t (1/3) | - () - %
() cos™ (1/43)
b
d P
(d) 3

(d) cos™ (2/V3)

117. What is ther‘angle between one of the edges of 120, Whal 18 the walua of
the cube and the diagonal of the cube _ (0-101}(211]2 + (0011)

intersecting the edge of the cube ? (0.101){210)2

an,
2

- 100572 o1 "2 + 01D

(10},
2

a) cost (1/2) - L .
S (a) (0-001),

(b) cos™! (1/3)

(b)  (001),
(c) cos™ ! (1/\/5) 2 (e (014
f
. | .
(@) cos™ (2/V3) \ @ (1),

Q-OEBA-K-NBU . (34 - A}
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o |
1i5. - C°5315°°+"°5‘345° BT T 2 118. B9 % v® Ted % Rrovt @ v9 ¥ wied & fyaof
foe” Wrhooe” 49 ' B BT a1 o7 $ fwt H A B @0 e 2
1. -1
(a) T - {a) cos™' (1/43)
L () cos™! 2/V3)
by —
2 "
. (©) cos™t (V2/3)
(¢) 1
3 d) cost (+2/3)
(d) IJoRERea o T 1 =& \ 5
119, 7= e 5 a 3k b érmw_%w%‘sﬂ?a
FEdw @ auE | ok (3 + b) N IS
. ' e g, MaFT AT T E ?
fider : s 3 (@) T & fe Bte ®
(a) —
et v= & O ®HeE (0, 0, 0), (2,0, 0), (0,2, 0),
(0,0,2),(2,2,0),(2,0,2),(0,2,2),(2,2,2) % |
116. T H B AR ST A A ? ®) 3
(a) cos! (1/2) 5
: () ?T[
(b) cos™t (1/3)
(@) cos™t (1/43) (@) %
) cost2/4B) -
' 156 10052 + oDy M2
117, °9 & T YT sk o & =T B FEIT TSNS ) (0-1.01)20]2 e (0°101)(201)2 (0-011);0112 + (0.011)(210)2
ﬁ@i%é‘lﬂaﬂmméa aﬂtﬂqﬂ%?
(a) cos™} (1/2)
(a) (0-001),
" (b} cos™t (1/3)
(b) {(0-01),
-11/43
i ma Gl © (01,
: -1
Q-OEBA-K-NBU {35 - A)
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aaaaanaﬁ-ygqﬁmgﬁaéﬂw}a#aﬁqaﬁmaaéw#@ﬁ |
A& : Q- OEBA-K-NBU - e gRaw1 srgHA

“Rigmor gReToT

e

Ty - & g sk dw e -  qufE : 300

1. ofen wow B & ge W18, 39 59 e gRadt o wgawe srvm @ o B g oK e e, we
a1 e TN IS JTral weieT A 7 @ | afk ¥ ?, @ g e Haror gl @ sEw A |
2. FR-ES ¥ W W W et gRAET S A, B, C A1 D geRRefy e w9 J peey S |
3 e gRas W G ¥ R T Siss s s ’ B '
Ieaies fore @ | wen gRaer W gk o 7 ford |
4. 5w whem QRaw ¥ 120 swie (v Re e # e weie R ik sl o su ¥ | i wew A
TR FGTR (FR) R e & | g vw TR B g o oy 3 I W aifed e ued € | af
T v A B oE A e wegek wd ¥ A 39 yegeR @ sifea B S anue Wik Al | ves
weeTer & fore ‘St ow @ TRGER g R | . o
5. o S T SRR e | e M Fwe | & sifed 7 § | IR # e e e e )
. ol e % ST wEE E ' ,
7. T oed 5 omy odemr gRem B R g & TR IR-0E R HfET BRAT I W, 0B 5
T & e A SR & IR o AeRm SR me A A E | ‘
8. 3T 3 T HRIER B FR-UAG MR & SIC o e & WA R g IeR-95F AN B 4
& | amue |y e e & S B e |
9, o= oM ¥ e me wew gRaE $ s § wHwera € |
" 10, o IR & R avE - S
aegfrs wea-uat # sefiaar gt Re e e st & fore qvs féan sme '
&) T e S R Or dehes TR # | siEER R aes weE & o Re e vw o o & fre
797 & o fpe e 3@t @ ves-forers (0-33) 2vs & w9 A dieT SE |
Gi) ot B¢ iR ve § afte g 2 &, &) 59 e IR 7 S, Fut e e s § § e
- 3R T8 & &, TR N 39 wew & fo swfmraeR & 398 e & gvs foar S | g
Gip) o IefearR BRT B weT B et e amen &, arafq Iefear gRr Foe R R s R, o 39 v
& foe oY gus A fea sme | _ .

,maamﬁgqﬂwgﬁawam#aﬁqﬁrmaaaa#@)ﬁ- i

Note : English version of the instructions is printed on the front cover of this Booklet.

‘Dream Dare Win " 40. ' WWW.jeywin.com






